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Note: you have four choices for each objective type question as A, B, C and D. The choice -‘[)Ed’}gcamr
which you think is correct, fill that bubble in front of that qudstion number, on bubble sheet. Use marker or pen
to filt the bubbles. Cutting or filling two or more bubbles will|result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 -1 Ay
(1) An organism has two different alleles for = LEJJ(.»/L‘»! U gparr M Lot [ (1)

[]

a single trait, this genotype is called:

(A) Homozygous &5} sa 52 (B) Hemlzygous w&usl) ma
(C) Heterozygous &8l 5 jua (D) Homologous S 5! 4 34
(2) The relationship between sucker fish and shark is: -9‘51’} Sl Sl F (2)

(A) Mutualism ¢4 (B) Commensalism (7?‘,-/}( " (C) Parasitism (#z (D) Predation u%j{

{3) Which is the abiotic component of ecosystem? ?c‘-lr'u:’;zb&‘&a.!{f"/ (] (3)
(A) Producers j¢3s;  (B) Herbivores J/»Q % (C) Carnivores )mg}/K (D) Oxygencﬁ“f 7

(4) The microorganism used in the production of Formic Acid is: -gg(?’jl'u?tw;i.xdtw"“luﬁd/g(f%luﬂ} (4)
(A) Aspergillus U™ ¢4 (B) Yeast wx (C) Bacillug ¥ (D) Bacteria | 25

(5) Mescaline is obtained from: -g.&lgu@’lpc o He (5)
(A) Cactus ™% (B) Mushroom s~ (C) Yeast |ws (D) Bacteria | 2&

(6) Most of the gaseous exchange in a leaf occurs through: -:pgu);;_w,l;g;o;y?uﬁf S 6)
(A) Lenticels (¥ (B) Stomata tust- (C) Cuticle] f4 (D) General surface z‘;/,»u

(7) Rubber plant removes waste as: -g.Okﬁgfﬁ‘ﬁgﬁwaé. g% (7)
(A) Resins ¥z (B) Mucilage (’JL::‘ (C) Gums / (D) Latex u’q

(8) All of these are hormones except: -:Lly%??fzg(ﬁ, (8)
(A) Insulin d:‘r% (B) Thyroxin u’fuéb"f (C) Pegsinogen ¢/*#% (D) Glucagon uf(f

(8) The lobe of cerebrum concerned with hearing and smell is:_v -%C"Cﬁ;—gfjﬂd’&ﬁ?}jugrﬁ A 9)
(A) Temporal st (B) Occipital J#57  (©) ;F;fontal S (D) Parietal Fiz

(10) The number of bones in Human skufl are: / -4—:'»51.5/0;,’%@/362:{60&' (10)
(A) 14 (B) 22 /q(:) 24 (D) 28

(11) The method of reproduction in Bacteria is: / -4 )Kﬂ; /;uu:g /-j{' (1)
(A) Binary Fission o*[%,  (B) Fragmentatiory’;&"'“g/’ (C) Multiple Fission *Lt¢* (D) Budding %

(12) The locations of genes on chromosomes are caﬂed: _cl_ﬂgu’f.:,ux»ﬁ 7'84;!& 7)%/ (12)
(A) Loci Jey (B) Centromeres J<s* (C) Centrosome ,»’n/‘;‘ (D) Kinetochores %%
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NOTE: Write same question number -9@/;;}54.44%&5 (w/:‘.}m;l/:‘.'dlrw%(éb’c}m -2

and its part number on answer book, as given in the question paper.

SECTION-I Jslo

2. Attempt any five parts. 10=2x5 -c{//..,uyzimégc,éf 2/
()  What are Nostrils? St 0)
(i) Define breathing and write names of its phases. _u:{fb[,m/&u’wig{ il /’d/‘f/ (i)
(i) Write down symptoms of Asthma. Iy CONTRL TR (1)
(iv)  Differentiate between guttation and dew drops, g f“(/'f?uf(%ﬁc)bjf (iv)
(v)  How does removal of extra water occur in plants? ST A L}gluc;()';rrc.;g (v)
(vi)  Write the names of components of coordinated action. -u:”((td—/—"7‘£u‘i£di:155/7f (vi)
(vii)  What are dendrites? Wirite their function. Sl P’Kul ‘?ugtﬁfwa;‘ (vii)
(viii)  What is the function of parathyroid glands? -éf//fi{),izfi’bédv (wviif)
3. Attempt any five parts. 10=2x5 -é{/ugliéil?létc:,(}f 340y
() What is meant by Bone? Write the names of its two types. u“fft‘f:(ul»d/ui Sl s 0
(iy  Define ball-and-socket joints and give examples. ~LJ,:«J‘~JV/:M/-JJ/’JJ"£ <A (i)
(i)  How spores are formed in Rhizopus? ?uji-é/izx;ﬁ&:f'z (iii)
(iv)  What is meant by parthenogenesis? Give examples. -g,j:ui‘ﬁﬂ ?c‘_)yk‘/c.u"“frl“”fg (iv)
(v) Define genes. _Q/_.yﬂfﬁ )

(viy  Why did Mendel select pea plant for his experiments? -g,:’/,/f":,gzw ‘.'(,;‘/U)..fgl';'l&.:gZ:/".;_J_cf_c/Lj.:‘:?_Jé_Ji‘:' (Vi)

Write two reasons.

(vii)  Define Central Dogma. -q/..gﬂfuisd,*? (vii)
(vili) Define homologous chromosomes. ,9{.//’“ :iﬁgfu;izl?yr,/@’i’rﬁpﬁ uf.}u,u/(_y /U 7rr;/J§’fn (viii)
Write the pairs of homologous chromosomes in human body.
4. Attempt any five parts. - 10=2x5 -é;/ugtyf_méca_éf -4 )y
) Define food chain. Yy AS-31 (i
(i) Differentiate between Ectoparasites and Endoparasites. - /ubu/u‘ L/l/‘;yV/:lu”‘M/'rLf (i)
(iiiy ~ What is permanent parasitism? ?c‘-g(rwﬁuw” (i)
(iv)  Define species. «;[/»éi/;"d/‘/ftﬁ (iv)
(v)  How wouid you define fermentation with reference to biotechnology? e S uﬁﬁ”}:,é_:yé&ﬂb?f N
(viy  What is contribution of Pasteur in the field of fermentation? St SE gufuuzfiub?/' (vi)
(viiy  Write two problems faced after resistance to antibiotics. ‘-‘4‘-. mw&ﬂgdﬂmc.wryqusaijﬂ& (vii}
(viii)  Write names of two crimes in which drug addicts are involved. ?ujLnL:‘u‘@j&/ﬁcﬁétiﬂz;; (viii)
SECTION-II 'f».»"

NOTE: Attempt any twe questions. 18=9x2 -g!,//’@wzz::,mma&! -
5.(A) Explain functioning of Kidney. 4 -u./_vu,w’.’i;)f (.5
(B) Define cartilage and discuss its types. 5 -q/yu,J(u“eruu/_yiJ ells (&
6.(A) Write a note on anterior lobe of Pituitary Gland. 4 —“Z,;{/“ubi{*)/{/;"iﬁj;fd/’é (-6
(B) Explain budding in yeast and hydra. 5 LE St s (L)
7.(A) Write a note on drug addiction and its associated problems. 4 _g.f’a-:j'{J/L»}WLJ!»io)lpJa.l:ﬁ (N7
(B) Describe the basic steps in Genetic Engineering. 5 _q/ugm/d;wif/’%f]u@f o)
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Note: you have four choices for each objective typel question as A, B, C and D. The choice -Q[:J’?}c«ﬂlr
which you think is correct, fill that bubble in front of{that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solje questions on this sheet of OBJECTIVE PAPER.
Q.No1
(1) This is not a part of the hind brain:

A Ay
oWy (1)
(A) Pons i (B) Cerebellum (*d/: Cerebrum ¢z« (D) Medulla oblongata Lefu,;lu;,‘y

S LKL BN )
¥ (C) Osteoclasts U~ 1! (D) Osteoblasts NPt

e dedica i (3)

~—

(2) The cells of cartilage are called:
(A) Osteocytes u"’/l/:;i‘ﬂ (B) Chondrocytes u‘*/l/u

(3) External fertilization is found in:

(A) Reptiles )"u;_/ (B) Birds <.y (C} Mammals #< (D) Amphibians =i

(4) The unit of inheritance is called: -‘gt‘w//éﬁd/&m (4)
(A) Chromatin ¢/ts/  (B) Gene o (C] Protein uﬁ‘% (D) Chromosome (r/;/

(5) DNA wraps around histone proteins and forms -ugc“,i/ uﬁ;?:rrkdvdf/:{;fiﬁ;{u#’ DNA (5)

round structures, called:

(C) Nucleotides )}fbfxi (D) Centromere ﬂ:/-"’
e el A. 6)

nake - (D) Deer s

(A) Nucleosomes /}’);Kx: (B) Nucleosides Jﬁflzrf:é

(6) Itis an example of primary consumer:
(A) Frog Sl (B) Lion ¢ ©)
(7) The organisms in the ecosystem that are < Lla.,om{ug»falg,w/;uuitgj;lu»gﬁ/mgmrui("’ £ (7)
responsible for the recycling of plant and animal wastes aré:
(A) Producers J43s;  (B) Decomposers Ju‘:,fd;‘ (C) Consumers J/,g‘/‘f (D) Competitors s.;y][.u’:u{.(
e bR B (@)

(A) Fungi Jli’ (B) Bacteria | & (C) Algde u%t (D) Yeast «-x

(8) Lactic acid fermentation is carried out by:

‘e el baumy os/ (9)
(A) Aspirin o ¢4 (B) Insufin ugﬂ'! (C) Oplum @l (D) Cephalosporin sk

(9) Which drug is obtained from plants?

(10) A narrow opening present at the floor of pharynx is called; -g;blk'(@'/f)ﬁ}”{tf/"ékfﬁ (10)
(A) Larynx % (B) Glottis ¥ (C) Nostril J #t (D) Trachea £/

(11) The tube between kidney and urinary bladder is: _Q(WJBU.LK»L LIS sy a3l b 11

(A) Ureter £y (B) Urethra | :jg (C) Renal tubule Jud S (D) Nephron s ¥

(12) The number of lobes in cerebral cortex are: 'c‘:—JW‘J'/.J’ufJgJKJﬁ/ (12)
(A) Two 5 (B) Three (C) Four (D) Five &l
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NOTE: Write same question number

2. Attempt any five parts.

(i)
(ii)
(iii)
(iv)
v)
(vi)
(vii)
(viii)

3. Attempt any five parts.

0)
(i)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)

4. Attempt any five parts.

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)

OROUUF-I

SUBJECTIVE &Le

MWw-92-2) 48
e bR g g IR b A Gag §E0I12

and its part number on answer book, as given in the question paper.

SECTION-l oo

10=2x5
Describe the function of stomata.

What is meant by vocal cords?

Define Inspiration.

What is glomerular filtrate?

What is urethra?

How does co-ordination occur in uni-cellular organisms?
What are interneurons?

What is myelin sheath?

10=2x56
Define bone and write its function.

What is difference between Exoskeleton and Endoskeleton?
Define Reproduction. Write the names of its two basic types.
Describe the importance of Reproduction.

Define Traits. Write two human traits.

Differentiate between gene and allele.

What are nucleosomes?

Define Loci.

10=2x5
What is meant by abiotic components of an Ecosystem?
What are the producers?

Define commensalism.

What is meant by 3R, for conservation of nature?

Write the use of ethanol.

What is meant by recombinant DNA?

What are broad-spectrum antibiotics?

What are the sedative drugs?

hW
(g

oy

- feplinbha 8 240w

SECTION-Il (1.

Skt )
Sl e sk (i)

S EFSF i

Ay I ()

e ViAW)

(e dnl VT AU A (V)
SpYTLE AL (Vi)

spll 2SN (i)

g fenlizibhe 8 340w
sy S ASsh 0
hu/tfu*u"; 3t FEE (i
-Jf,@cérur@g”&uw, Iy /&/»/;U (i)
e $F e )
A S
BVIN) A0 DRe - )

S losiSrde (Vi)

LS 58 i

_E Lzl 0 )y
S TSI L AE )
Sty (i)
IS0 P ()

eolpfe BRLLBLS ()
Sk (v)

et liSieels i)
LA (il
cpdnt I8 de (i)

NOTE: Attempt any two questions. 18=9x2 -é//},uiéwm;a_,éf Y

5.(A) Explain different mechanisms for homeostasis in plants. 4 /JL-’)L;/KJJ)’J;L J"“r’fu"um' (HN-5
(B) Define skeleton and explain components of human skeleton. ,q/ywd/lﬂz, u“'pdwmu/.ﬂ/J

6.(A) Describe the structure of a general neuron. | 4 V“a,{ungJumd/v{ (Jl)-
(B) What is seed germination? Describe epigeal and 5 -g!uwﬁffzd":’géwd’f@ e YWIKE (L)

hypogeal germination.

7.(A) Describe the Mode of Action of Vaccines. 4 S LKL ,J, (D7

(B) What are fermented foods? 5 -q/uguﬁ;/;i./uﬁ U ?;_gf_ﬂ/éfu( ub"w/ (<)

Describe groups included in fermented food.
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